=LFDb

*UXSD 5R]INEDG .6% / = VAW
7N 7N 7N 7N
= SIRZDGJHQIH GR = SIRZDGJHQIH GR 2FKURQD GDQ\FK 2FKIRQD GDQ\FK
NUAPLQDIVIAN. PJU = DV NIAPLQDIVINL PJU = DV RVRERZ\FK | LQIRUPDFIL RVRERZ\FK L [QIRUPDFIL
$6UDQ $% SGUDQ $ 6%/ QIHIDZQ\FK PJU QHIDZQ\FK PV
&%/ - ) 1RZDNRZVNL SREHUI $% 1RZDNRZVN. SREHUI $%
6%/ . 6%/ -
7\6] 7\6]
= = SIRZDG] | |3RGVIDZ\ ne] ne] ne]
I HQHGR | |HNRQRPL 2FKIRQD 2FKWIRQD | | = SIRZDG]
8 NNPLODIVI| |GU 1OT GDQ\FK GDOFK | |HQIH GR
=) \W. PJU | |1RZDFND RVRERZ\FK RVRERZ\FK [NAPLQDIVI
© = DVIN SIV]XD $ LLQIRUPDFIL LIQIRUPDFIL| [\N. PV
2 $GUDQ $% | |% QIHIDZQ\FK QIHIDZQ\FK | = DVIN
e 6% / PJU P SGUDQ $%
0 6%/ - 1RZDNRZY] 1RZDNRZV
- | N SREHUI N SREHU | |.6% /
$% $% -
7N 6%/ 6%/
3RGVIDZ\ HNRQRPLLGU
1QT 1RZDFND 8WIXIDS ™
% 6%/ -
= SIRZDG]HQIH GR
NNPLQDIVIANL PJU = DVL
$GUDQ $%
6% / -
7N 7N 7N
7\G] = \EUDQH HHPHQN = \EUDQH HHPHQN = \EUDQH JDIDGQHQID
= PJU = DVIN FKHPIL SURI GU KDE FKHPILL SURI GU KDE SUDZD NDUQHJR L SUDZD
I SGUDQ $% ODUFIDN = RIFHFK $ ODUFIDN = RIFHFK $ Z\NIRFJHE GU = UyEH)
z 6%/ & 8%/ = $GDP $ 6%/
ﬁ 6%/ H
VSRINDQLH
RUJDQLIDF
IQH
o N
o = \EUDQH JDIDGQHQID
x SIDZD F\ZUQHJR GU
T “DVLEVND -XVINQD $
6%/ z




=LFDb

*UXSD 5RINiDG -6% 7/ U 7N\J
7\G]
= \EUDQH
a 1DIDGQIHQY
Q D SUDZD
x F\ZIQHJIR
I Gl
-DVLEVND
-XVINQD $
6%/
7N 7N
%+3 L SIHIZV]D SRPRF
z = \EUDQH HHPHQI\ PJU /ISRZIF] $UIXU$
< FKHPL .IX]LDN . DURILQD 6%/ U
a $ 6%/ /
N 7N
o
3RGVIDZ\ HNRQRPLL Gl
lQT 1RZDFND 8IVIXIDS$
6%/ U
7N 7N
OHIRG\ XFJHQID VIC | = \EUDQH HHPHQI\
VIXGIRZDQID 7\J PDIHPDINNL GU
] “RPDEVND . DIDUJ\QD$
KDE 1) $1lQD $ % 6/ =
= 7N %
I 7\
O 6%/ & 7\
N
7N
= \EUDQH HIHPHQI\
PDIHPDIAN. G
“RPDEVND . DIDUJ\QD$
% 6%/ &
o
©




